ES SAGEN
ES EILEN

ES KAUFEN
ES LERNEN
DU PASSEN
ES REISEN
DU MACHEN
IHR MALEN
SIE SAGEN
ES RAUCHEN
SIE REISEN
IHR TANZEN
SIE KAUFEN
SIE PASSEN
SIE TANZEN
IHR SPIELEN
SIE SPIELEN
IHR KLETTERN
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Das Imperfekt (weak verbs)
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DU ATMEN
ES ATMEN
SIE MALEN
ES MACHEN
SIE ATMEN
IHR EILEN

ES PASSEN
ES WOHNEN
IHR LIEBEN
ES HUMPELN
SIE MACHEN
IHR HOREN
IHR LERNEN
ES OFFNEN
SIE WOHNEN
ES KLETTERN
SIE RAUCHEN

4 Z2< T1TC®©Z4H4 1T xOxnr-4030ITTNNCTI
mmMmrOCC®O@IS—mMm>mMmCIZ<mMmrO

Z d4r»r < IT2rCcmIToOoZ=rrrZ2>»mm4+dm >

Z2 T O W IT X410 OITAHAAAO0444dnm4dZZ
mcIIIcZI omr-4mzZzmMmOEMIOnw®N>
4 > e < - UvTZrrc4m-40 > 0n0O>» — 2
WO X MmMZIOIUT-AMZXIOIMICCTMM

— MWW T —mMmrdmz20<2Z2NDX»4310 4
m-4rr >» >N —CZ2mMmHdIOCD>»XIOXmTTr
Tr»r 4 mMm-Adm-Ar >» - —m®AMmMA T —

ES MALEN
IHR ATMEN
ES LACHEN
DU REISEN
ES HOREN
IHR SAGEN
SIE EILEN

ES TANZEN
DU HUMPELN
ES SPIELEN
SIE LACHEN
IHR KAUFEN
SIE HOREN
IHR PASSEN
SIE HUMPELN
SIE WANDERN
IHR HUMPELN
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Solution




